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QUESTION 1

Which of the following commands prints all files and directories within the /tmp directory or its subdirectories which are
also owned by the user root? (Choose TWO correct answers.)

A. find /tmp -uid root -print

B. find -path /tmp -uid root

C. find /tmp -user root -print

D. find /tmp -user root

E. find -path /tmp -user root rint

Correct Answer: CD

QUESTION 2
CORRECT TEXT
The /etc/ file lists currently mounted devices.

Correct Answer: mtab

QUESTION 3

Which of the following are modes of the vi editor? (Choose two.)
A. edit mode

B. insert mode

C. change mode

D. review mode

E. command mode

Correct Answer: BE

QUESTION 4
What is the default action of the split command on an input file?

A. It will break the file into new files of 1,024 byte pieces each.



B. It will break the file into new files of 1,000 line pieces each.
C. It will break the file into new files of 1,024 kilobyte pieces each.
D. It will break the file into new files that are no morethan 5% of the size of the original file.

Correct Answer: B

QUESTION 5

What is the process ID number of the init process on a SysV init based system?
B.0

C.1

D. It is different with each reboot.

E. Itis set to the current run level.

Correct Answer: C

QUESTION 6

Which of the following commands can be used to download the RPM package kernel without installing it?
A. yum download --no-install kernel

B. yumdownloader kernel

C. rpm --download --package kernel

D. rpomdownload kernel

Correct Answer: B

QUESTION 7

Which shell command is used to continue background execution of a suspended command?
A. and

B. bg

C. cont

D. exec

E. :and

Correct Answer: B



QUESTION 8

After successfully creating a hard link called bar to the ordinary file foo, foo is deleted from the filesystem. Which of the
following describes the resulting situation?

A. foo and bar would both be removed.

B. foo would be removed while bar would remain accessible.

C. foo would be removed. bar would still exist but would be unusable.
D. Both foo and bar would remain accessible.

E. The user is prompted whether bar should be removed, too.

Correct Answer: B

QUESTION 9

Which of the following statements is correct regarding the command foo 1> bar?
A. The stdout from the command foo is appended to the file bar.

B. The stdout from the command foo overwrites the file bar.

C. The command foo receives its stdin from the file bar.

D. The command foo receives its stdin from the stdout of the command bar.

E. The stderr from the command foo is saved to the file bar.

Correct Answer: B

QUESTION 10

Which of the following statements is correct for a command line ending with a and character?
A. The command\\'s output is redirected to/dev/null.

B. The result of the command defines if the next command will be run.

C. Thecommand is run in background of the current shell.

D. The command is run as a direct child of theinitprocess.

Correct Answer: C

QUESTION 11



Which of the following commands enables the setuid (suid) permission on the executable /bin/foo?
A. chmod 1755 /bin/foo

B. chmod 4755 /bin/foo

C. chmod u-s /bin/foo

D. chmod 755+s /bin/foo

Correct Answer: B

QUESTION 12

What is true regarding the configuration of yum? (Choose two.)

A. Changes to the repository configuration become active after running yum confupdate
B. Changes to the yum configuration become active after restarting the yumd service
C. The configuration of package repositories can be divided into multiple files

D. Repository configurations can include variables such as $basearch or $releasever

E. In case /etc/yum.repos.d/ contains files, /etc/yum.conf is ignored

Correct Answer: DE
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